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Following questions are based on the information
given below:

‘A X B’ means ‘A is the mother of B’.

‘A — B’ means ‘A is the brother of B’.

‘A + B’ means ‘A is the sister of B’.

‘A + B’ means ‘A is the father of B’.

If the expression T X M — R x Q + S then which of the
following statement is true?

(1) M is the daughter of T
(2) S is the niece of R

(3) Q is the sister of M

(4) T is the father of R

(5) None of these
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Following questions are based on the information
given below:

‘A X B’ means ‘A is the mother of B’.

‘A — B’ means ‘A is the brother of B’.

‘A + B’ means ‘A is the sister of B’.

‘A + B’ means ‘A is the father of B’.

If the expression ‘Y ~ Q — T + R’ then how is R
related to Y?

(1) Mother

(2) Brother

(3) Daughter

(4) Son

(5) Cannot be determined



Following questions are based on the information

given below:

‘A X B’ means ‘A is the mother of B’.
‘A — B’ means ‘A is the brother of B’.
‘A + B’ means ‘A is the sister of B’.
‘A + B’ means ‘A is the father of B’.

If the expression A x C + B + D is true then which of
the following statements is true?

(1) A is the father of D

(2) Cis the aunt of D

(3) A is the grandfather of D
(4) B is the sister of C

(5) None of these
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Four of the following five are alike in a certain way
and thus form a group. Which of the following does
not belong to that group?

(1) #5A
(2) @30
(3) PAL
(4) L8%
(5) 94P
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If all the odd digits are dropped from the sequence
then which of the following elements will be eighth
from the right end?

OHT

2) @

R) P\

4)$

(5) None of these
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Which of the following elements is 20th from the left
end?

(1) #
2) @
)P
(4) 4
)9
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Only few coding are decoding.
Only few number are coding.
Some number are symbol.

Conclusions:
I. No symbol is coding.
I1. Some symbol are coding.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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Statements:

Some fear are dream.
All dream are true.
No true is false.

Conclusions:

I. Some fear are not true.
I1. All dream can be false.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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Statements:

Some network are weak.
Only few weak are slow.
All slow are work.

Conclusions:
I. All slow being weak is a possibility.
I1. Some work are weak.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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Statements:

Only few greek are roman.
No paris is roman.

Some roman are digits.

Conclusions:
I. All digits can be roman.
I1. All greek can be roman.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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A certain number of persons are sitting in a straight
line facing towards the north. D is not sitting to the
right of F. D is fourth to the right of H who is fifth
from the left end. The number of persons sitting
between G and D is the same as the number of
persons sitting between D and F. Three persons sit
between B and F. Six persons sit between E and C
who is fifth to the right of F. Only five persons are
Sitting to the right of B. A is exactly between H and
D. Not more than two persons sit between D and F.
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A certain number of persons are sitting in a straight line
facing towards the north. D is not sitting to the right of F. D
is fourth to the right of H who is fifth from the left end. The
number of persons sitting between G and D is the same as
the number of persons sitting between D and F. Three
persons sit between B and F. Six persons sit between E and
C who is fifth to the right of F. Only five persons are
Sitting to the right of B. A is exactly between H and D. Not
more than two persons sit between D and F.

Which of the following pair sits together?

(1) H,A

(2) E,F

3) G,A

(4) B,F

S CD
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A certain number of persons are sitting in a straight line
facing towards the north. D is not sitting to the right of F. D
is fourth to the right of H who is fifth from the left end. The
number of persons sitting between G and D is the same as
the number of persons sitting between D and F. Three
persons sit between B and F. Six persons sit between E and
C who is fifth to the right of F. Only five persons are
Sitting to the right of B. A is exactly between H and D. Not
more than two persons sit between D and F.

Whatis the position of G with respect to H?

(1) Immediate to the right

(2) Third to the left

(3) Second to the right

(4) Immediate to the left

(5) None of these
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A certain number of persons are sitting in a straight line
facing towards the north. D is not sitting to the right of F. D
is fourth to the right of H who is fifth from the left end. The
number of persons sitting between G and D is the same as
the number of persons sitting between D and F. Three
persons sit between B and F. Six persons sit between E and
C who is fifth to the right of F. Only five persons are
Sitting to the right of B. A is exactly between H and D. Not
more than two persons sit between D and F.

How many persons sit in the row?

(1) 20

2) 19

4) 21

3) 18

(5) Cannot be determined
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A certain number of persons are sitting in a straight line
facing towards the north. D is not sitting to the right of F. D
is fourth to the right of H who is fifth from the left end. The
number of persons sitting between G and D is the same as
the number of persons sitting between D and F. Three
persons sit between B and F. Six persons sit between E and
C who is fifth to the right of F. Only five persons are
Sitting to the right of B. A is exactly between H and D. Not
more than two persons sit between D and F.

How many persons sit to the right of F?

(1) Nine

(2) Five

(3) Six

(4) Seven

(5) None
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A certain number of persons are sitting in a straight line
facing towards the north. D is not sitting to the right of F. D
is fourth to the right of H who is fifth from the left end. The
number of persons sitting between G and D is the same as
the number of persons sitting between D and F. Three
persons sit between B and F. Six persons sit between E and
C who is fifth to the right of F. Only five persons are
Sitting to the right of B. A is exactly between H and D. Not
more than two persons sit between D and F.

Who sits at the end of the row?

(1B

4) C

(2) None

3 H

S G



In a certain code language,

‘rn on ah’ means ‘ram shyam govind’
‘bh ru vk’ means ‘arun vivek abhy’
‘oa ah bo’ means 'we you shyam’

‘rn bh ru’ means ‘abhi ram arun’

Which of the following is the code for 'ram you
abhi'?

(1) ru oa bh
(2) rn bo ah
(3) ru oa ah
(4) ru rn bh
(5) oabh rn

4 @Reasoningbybasantsir



In a certain code language,

‘rn on ah’ means ‘ram shyam govind’
‘bh ru vk’ means ‘arun vivek abhy’
‘oa ah bo’ means 'we you shyam’

‘rn bh ru’ means ‘abhi ram arun’

Which of the following is the code of 'we'?

(1) oa

(2) bo

(4) oa/bo

(3) an

(5) None of these
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In a certain code language,

‘rn on ah’ means ‘ram shyam govind’
‘bh ru vk’ means ‘arun vivek abhi’
‘oa ah bo’ means 'we you shyam’

‘rn bh ru’ means ‘abhi ram arun’

‘vk ah on' may be coded as

(1) vivek arun govind
(2) vivek shyam ram
(3) govind vivek shyam

(4) None of these
(5) vivek shyam you



In a certain code language,

‘rn on ah’ means ‘ram shyam govind’
‘bh ru vk’ means ‘arun vivek abhy’
‘oa ah bo’ means 'we you shyam’

‘rn bh ru’ means ‘abhi ram arun’

What does the code 'bh' stand for?

(1) govind

(2) ram

(3) we

(4) shyam

(5) None of these

4 @Reasoningbybasantsir



In a certain code language,

‘rn on ah’ means ‘ram shyam govind’
‘bh ru vk’ means ‘arun vivek abhy’
‘oa ah bo’ means 'we you shyam’

‘rn bh ru’ means ‘abhi ram arun’

What does the code 'vk' stand for?

(1) arun

(2) abhi

(3) vivek

(4) shyam

(5) None of these

4 @Reasoningbybasantsir
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Nine persons are seated around a circular table and
they all are facing towards the centre. ME is not a
neighbour of MA and is second to the right of MC.
MI is the immediate neighbour of MB. MG and MI
are immediate neighbours. Four persons sit between
MD and MB. MA sits third to the left of MB. MD sits
second to the right of ME. Five persons sit between
MC and MH. MF sits on the remaining place.
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Nine persons are seated around a circular table and
they all are facing towards the centre. ME is not a
neighbour of MA and is second to the right of MC.
MI is the immediate neighbour of MB. MG and MI
are immediate neighbours. Four persons sit between
MD and MB. MA sits third to the left of MB. MD sits
second to the right of ME. Five persons sit between
MC and MH. MF sits on the remaining place.

Who is the immediate neighbour of MI?

(1) ME

2) MG

(3) None of these

(4) MB

(5) Both 2 and 4
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Nine persons are seated around a circular table and
they all are facing towards the centre. ME is not a
neighbour of MA and is second to the right of MC.
MI is the immediate neighbour of MB. MG and MI
are immediate neighbours. Four persons sit between
MD and MB. MA sits third to the left of MB. MD sits
second to the right of ME. Five persons sit between
MC and MH. MF sits on the remaining place.

Who among the following sits fourth to the left of
MD?

(1) ME

2) MG

3) MB

(4) M1l

(5) None of these
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Nine persons are seated around a circular table and
they all are facing towards the centre. ME is not a
neighbour of MA and is second to the right of MC.
MI is the immediate neighbour of MB. MG and MI
are immediate neighbours. Four persons sit between
MD and MB. MA sits third to the left of MB. MD sits
second to the right of ME. Five persons sit between
MC and MH. MF sits on the remaining place.

Who among the following sits second to the right of
MEF?

(1) MA

(2) Ml

(3) MH

(4) MD

(5) None of these
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Nine persons are seated around a circular table and
they all are facing towards the centre. ME is not a
neighbour of MA and is second to the right of MC.
MI is the immediate neighbour of MB. MG and MI
are immediate neighbours. Four persons sit between
MD and MB. MA sits third to the left of MB. MD sits
second to the right of ME. Five persons sit between
MC and MH. MF sits on the remaining place.

Who is sitting in front of MB?

(1) MD

(2) MF

(4) MA

3) MC

(5) Can’t be determined
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Nine persons are seated around a circular table and
they all are facing towards the centre. ME is not a
neighbour of MA and is second to the right of MC.
MI is the immediate neighbour of MB. MG and MI
are immediate neighbours. Four persons sit between
MD and MB. MA sits third to the left of MB. MD sits
second to the right of ME. Five persons sit between
MC and MH. MF sits on the remaining place.

How many persons are sitting between MB and MA?
(1) 2

4)5

2)8

3)6

(5) Cannot be determined



Ten persons from A to J are attending a seminar on five
different months among January, February, March, April
and May but not necessarily in the same order. The seminar
held on two different dates like 19th and 20th of each
month. No two persons attend the seminar on the same date
of a month. Only two persons attend the seminar before E.
Three persons attend a seminar between B and H. F
attends a seminar in March. B attends a seminar on 20th of
the month which has minimum number of days. A and D
attend on an odd date. A attends on the month which has 31
days. Two persons attend a seminar between D and J. 1
attend the seminar immediately before J and in the month
of May. Two persons attend a seminar between I and G.

\\
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

How many persons attend the seminar before G?

(1) Two

(2) Three

(3) Four

(4) None

(5) Five



% @Reasoningbybasantsir

Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Who among the following attends the seminar on 19th of May?

(1) A

4) G

2)1

3)F

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Which among the following statements is definitely true?

(1) H and the person who attends a seminar immediately before J
attend the seminar in the same month.

(2) Two persons attend a seminar between A and J.

(3) D and F attend a seminar on an odd day.

(4) B and C attend a seminar in the same month.

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Four of the following five are alike in a certain way and thus form a
group. Which of the following does not belong to the group?

(1) C

4)H

2)B

B F

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Which of the following persons attend a seminar in a month which
has 30 days?

1M)CcJd

2)LE

4)D,H

B)F, A

(5) None of these



4 @Reasoningbybasantsir

The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

Four of the following five are alike in a certain way and
thus form a group. Which of the following does not belong
to the group?

(1) F-20

4) C-4

(2) B-15

3) A-10

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

What is the position of C with respect to E?

(1) Immediate right

(2) Third to the left

(3) 8th to the right

(4) Immediate left

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

How many persons are there in the row?

(1) 20

2) 19

(4) 22

R)PAR

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

How many seats are there between A and E?

(Mo

2)1

45

R)R

(5) None of these



Qé_ Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three

of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to

the right ofE
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to
the right of E.

Who among the following is second to the left of the V?
(Hu

2)1

Q) E

4 A

(5) None of these
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of 1, sits second to
the right of E.

Who among the following are facing towards the centre?
(1) V,Aand U

2)LLUand V

3)V,0and E

(4) Can’t be determined

(5) None of these
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to
the right of E.

Who among the following sits third to the right of 1?

1) O

2)V

) A

(4) P

(5) None of these
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